JKEEER B

IKPEMER 3T

BFTHESA23H 4R R M SR 21°C
Al H He 8 4
H# AR AE A ENEWNG-s i H LR
fif £ A BTHE Al 550 fir | f& A fif &
w| B oW R AWZ< mR BB 5| B &
TN AT %< filikg 5R woW A
BT
B s
xR 5] HYHRE]
& i & i
S| @A E | BEke| B | SfE | PiE | RE | 5| &8 B | BEke | B BB PiE | RiE
1 BIES 1kg 1 |®ES 1keg
2 |E:FE 1kg 2 |E=FE *+—2b5U7 248| 1kg 2,376 1,080
3 Kahvh 1kg 3 KA | mgul 84| 1kg 864 594
4 |&F (i=E;d 300 1kg 540 389 4 |=IF 1keg
5 [HL RG-Sl 156] 1kg 2,916 648| 5 |&HL 1kg
6 [LvL BE-A 75| kg 410 324] 6 |LvbL 1kg
7 |F5H00 | RiE 15| kg 1,512 1 |[$5H0 0 kg
SAE itigiE 12| kg 1,134 8 |SAE 1keg
9 |5Y = 20| kg 2916 1,782 9 |AY kg
10 |&ZL alll 30| kg 670 10 |&ZL 1keg
11|28  |sm-=% 108 1kg 594 11 |26 Tkg
12 |f=Ly == 425| kg 1,566 918| 12 |f=Ly kg
13 |[FFL 1kg 13 [[FFH 1kg
14 |[hhiy alll 44| kg 680 14 |Ahis Tkg
15 [ BE-BH 6] kg 3,456 15 U8 =k 20| 1kg 2,916 1,728
16 | AN Tkg 16 | AN Tkg
17 |2Y B dimiE 21] 1kg 4,968 17 |ZU 1keg
18 | YLy Tkg 18 | YLy Tkg
19 |1=2 dbiEE 18| 1kg 3,240 19 |f=C kg
20 | Tkg 20 |vE Tkg
21 |HEY 1kg 21 |BHEY kg
22 | RAHWP 158 22 |\ XRHYP | KB 18| 158 16,200 2,160
23 |BEHP | B 45| kg 2,376 2,214| 23 |BFEHD Tkg
24 | E B4 hE 190] 1kg 6,102 4,806| 24 |5%F 1kg
25 |ISLFEF 1kg 25 |ISLFEF 1keg
26 |HFES 1kg 26 |HFES 1kg
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1 |&aST F: 790 297| 1kg 2,862 1,458 1 |iESIT F-deimE 475| 1kg 1,620 1,134
2 |AhIz his-nyy 45| kg 4,860 4320 2 [ExE 91— 218| 1kg 1,296 810
3 MAY | sm-ruz-y 656] 1ke 4,428 1,166 3 [{ESAFE 1keg
4 |AFLDbL |BR-EE 288| 1kg 1,404 864
5 [FAHL RI& 168 1#& 335 130
6 [ bYDHA kg
1_|IhNEF Tkg




